x2y — 2xy + 3xy? & QIFEo|E A2?

@xy(x +3y-2) @ (x-y)(x+3y)
® (2x-y)(x-3y) @ xy(x-3y-2)
® (x=y)(x—2y)

x2y — 2xy + 3xy® = xy(x + 3y - 2)




2.

(x+y)(x+y-1) =20 & vr=A] st A7

@<x+y—5)(x+y+4) @ (x+y-4)(x+y+5)
® (x+y-5)(x+y-—4) @ (x-y-4)(x—y+5)

® (x-y=-5)(x-y+4)

B

x+y=A @1 514

(x+y)(x+y-1)-20=A(A-1)-20
=A2-A-20
=(A-5)(A+4)
=(x+y-5)(x+y+4)




3. 2 tar+b S ALRABE 20+ 1)(x+1)0] et ol o+ 5 E
o7

(2x+1)(x+1)=2x2+3x+1
a=3,b=1
La+b=4




¥2—dx+3 =09 T 2] A7} o] A A 252 —5x+k = 0
o] 3 2w, k & = FshA?

@ 1 @Dz ® 3 @ -3 ® -4

. ‘
A (x-1)(x-3) =0°|BR yr=1Emx=3

waba] = 2] =3 -1 =2 ot}
x=27F2x® —5x+ k=0 2] 3t Zo]B =2 tjU3tH

2(2)2-5(2) +k=0

k=2




5. 2a+8V3-T-dav3 9 glo] §el57t S sk fE a0 g

Do @1 @2 @ 3 ® 4

B

2a+8V3-T-4aV3=2a~-7+ (8—4a)V3

Fo13l Ao] {7t E7] A= 8 —4a 9 gko] 0 o] Hojof
gt

8—4a =0 La=2




O 8 @ 9 ® 10 ®)11

® 12

B

i} Algete] JA g F 2o F2 -1, F 2
m2tA -1, =5 7Fx* + mx+n =0 2 F o]t}
-m=(-1)+(-5)=-6,n=(-1)x(=5) =5
m=6,n=>5

“m+n=11




|

= % 2017 o] Al4te HESHA 517] 915t o] §EE w4l 54

sh2A el A7 (Fa, b, ¢, d & D)

ofd
o

@ (a-b)? @) (a+b)?
® (ax+b)(cx+d) @ (a+b)(a-b)
©® (x+a)(x-b)

2012 = (200 + 1)2 = 40000 + 400 + 1 = 40401




8.




9.  44® - 6ab E AFTEIT ALY

@ 4a(a-b) @ 2ab(a-3) ® a(a-b)
@)2a(2a - 3b) ® 4a?(1 - 6b)

4a® — 6ab = 2a(2a — 3b)




10.

—

X

f

2 ), 5 QR0 Fe

ol

O x+3 @ x+2

@2x

® 2x+3

3)2+6(x—3)+82 xo A7F1¢ F

dxpale] oz Qi

® 3x+2

=x-3+4)(x-3+2)
=(x+1)(x-1)
S+ +(x-1)=2x




11. 2x% 4 ax+b 2 Q15Eafold (2x+1)(x+ 1) o] Aot o|f, a+b &
EREY

® -5 @ 5 ® 7 @ -4 ®)4

2x+1)(x+1)=2x2 +3x+1
a=3,b=1 La+b=4




12.

ek
ry
)
i)
ru
=
ry
lo

O|AH A x2 — (2a + 3)x+a® +3a =0 2
v & wff, a o] F27 (a = 3)

@® 3 @ -3 ® 6 @ -3,6 (3)3,-6

5 28 717} p, 2p 22 S, 23 A%ote] A o
p+2p=2a+3,2p*=a*+3a---OQ

253 g oo syt

3p=2a+3,p=

2a +3)?
2><< @t ) = a® +3a,2(2a+3)? = 9a% + 27a

A2t a? +3a-18=0, (a+6)(a-3)=0
sa=-6, 3




13. 3(3-av2)- V3(aV3-2V6) & tHo] & Lol fe47t Hes

ShE frels o o gHE oY

9-3aV2-3a+2V18

= (9-3a) + (6 - 3a) V2

FEl4o] 571 $JaA 257t glojA o gt
L. 6-3a=0,a=2




14.

VA 242 4 8145 =0 91 % 28 o, 24T
2 +bx+c=09F 2 a+p, a?+p2 |t} b+c

a+pB=-4, aﬁ:g
a?+p2=(a+p)*-20p=16-5=11
(@+p)+(@®+p)=-b=T7
Lb=-7

c=(a+p)(a®+p%) =-44

b+ c=-51




D 80 @)100 ® 120 @ 140

® 160

1.23(552 — 452) = 1.23 x 100

~[_]=100




